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	Handling Data
	

	108
	a) 140º, 16º, 56º, 94º, 54º or answers that round to.

b) Sectors drawn, ft from (a).  If it fits overlay than (a) & (b) gets 3 + 3 or 3 + 2 dep. on labels and non-contradicting table.

c) 289/1800 =7/45
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	109
	Specify a period of time, e.g. “How much television do you watch in a day?”

Include some options such as 0-5 hours, 6-10 hours etc.


	2
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	110
	a)




b) 7
	4
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	111
	a) graph

b) negative
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	112
	a)   points plotted

b)   High positive, good accept description of relationship
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	113
	a) points correctly plotted

b) negative
	3

	 FORMCHECKBOX 

	
	

	114
	a)   2 × 10 + 22 × 30 + 13 × 50 + 10 × 70 + 5 × 90 + 2 × 110 + 1 × 130 = 20 + 660 + 650 + 700 + 450 + 220 + 130 = 2830 (= 51.4545...) = 51.5

b)   40 < L ( 60
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	115
	(3 × 0) + (14 × 0.5) + (17 × 1.5) + (5 × 2.5) + (1 × 3.5)= 48.5

48.5 ÷ 40 = 1.21
	4
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	116
	29 × 9 = 261

31 × 5 = 155

33 × 4 = 132

35 × 2 = 70


         618

618 ÷ 20 = 30.9
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	117
	a) Line of best fit

b) Draw line "amount = 10.4" on graph or state use of amount = 10.4; price about £16.50


	4
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	118
	a) Line of best fit (only str. line)

b)
i) accept 136 - 140 pages


ii) accept 216 - 220 g
	4
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	119
	Look for a question that links to the original problem via the perceived causes and a way of completing the questionnaire easily e.g. boxes
	2
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	120
	a)
Mid point
Total


162.5

1137.5


167.5

1005


172.5

  345


177.5

1775


182.5

  912.5


Total

5175


Mean = 5175 ÷ 30 = 172.5 cm

b)
7, 13, 15, 25, 30

c)
Median

= 175

      Interquartile range    = 17
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	121
	a) plot points, joined with smooth curve/line

b) segments 240 - 170 = 70

c) 10% is 12 houses. Read off where cf = 120 - 12 = 108; floor area = 275 m2
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	122
	a)  6, 23, 45, 90, 116, 135, 144, 150

b) cum freq diag drawn: ignore line between first point and the origin

c)
60% of 150 = 90


150 - 90 = 60

     pass mark about 42 - 45 marks
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	123
	1 - 1/12 = 11/12

accept 4/12 + 2/12 + 3/12 + 2/12 = 11/12
	2
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	124
	i)   15/22

ii)  7/22
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	125
	H1, H2, H3, H4, H5, H6

T1, T2, T3, T4, T5, T6
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	126
	a)
i) 1/6


ii) 3/6

(E)

b) 1 - (0.2 + 0.1 + 0.3 + 0.1 + 0.2) = 0.1
(E)

c) 0.3 + 0.1 + 0.2 = 0.6
(D)

d) 0.2 × 1000 = 200

(C)


	10
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	127
	1 - (0.31 + 0.28 + 0.24) = 0.17
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	128
	a)
 i) 8/13 or 0.62...

     ii) 1 - "8"/13 = 5/13 (or 0.38..)

b)  (y, y) (y, g) (g, y) (g, g)
	4
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	129
	46/200 or  23/100 or 0.23 or 23%
	2

	 FORMCHECKBOX 

	
	

	130
	a) 1 - 0.995 = 0.005 
(C)

b) 10 000 × (a) - 50
(B)


	4
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	131
	a)   1/36, 2/36, 3/36 etc

b)   i) 10/36

      ii) 10/36

      iii) 15/36
	6
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	132
	i)    0.0625 × 0.032 × 0.044 = 0.0000915

ii)   0.065 × 0.968 × 0.954 = 0.06

iii)  0.935 × 0.968 × 0.954 = 0.863
	7
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	133
	i)    0.65 × 0.8 = 0.52

ii)
1 - 0.65 (= 0.35)


1 - 0.8 (= 0.2)


0.35 × 0.2 = 0.07
	5
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	134
	a)    1000 ( 0.7 = 700
              (C)

b)    0.6 ( 0.7 = 0.42            
   (B)

c)    0.6 (0.3 = 0.18
                           (B)


	6
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Theatre

Art gallery

Science museum

Totals



Girls





7

27



Boys

8

2







Totals
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